Differential Equations Reference Sheet
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Laplace Transforms

L L{f(t)} =F(s) 19.

2. L{af(t)+bg(t)} =aF(s)+ bG(s)

3. L{f'(1)} = sF(s) — /(0) 20

4. L{f"(t)} = s"F(s) = sf(0) = f'(0) 921,

5. L{fM®)} =" F(s) =" F(0) = = F70(0)

22.
t T)dT § = is)

6.£{/f()d} : "

7. L{e"f(t)} = F(s—a)

8. L{ua(t)f(t —a)} = e F(s) 24.

9. {/ fr)gt—7)d } F(s)G(s) 25.
10. E{tf )} - *F/( ) 26.
1. L{t"f(t)} = (—=1)"F™(s)

12. L',{fit)}:/ooF(a)da 2T
13. L{f(t), period p} = 1%6_]38 /Op e F(t) dt 28.
14, £{1} = % 29,

1

15. L{t} = 5 20,
16. £{t"} = fil 31,
17, c{j,t} _ \1[ 3.
18. £ {19} = % 33.
Miscellaneous Functions

1. e =cosz + isinz 3 cosha — et +e’ "

. T et sinh x
2. sinhx = 5 4. tanhz = cosh 2

Fourier Series
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